The redcap's comingl This

Roo ran rc:unf For a Scooby Snack, you
on ree!
: can count on me, tool . .
S ' ' time we'll get it for surel

Oh no, Scoob! Don't get so
wrapped up in your work!

Lead it to where Fred
and Johan have the netl

We got itl But it's
all tangled up!

Ruh-roh—
RAGGY!

Once we sort everything
out, we'll have our culprit!

Letters of your previous answers travel paths toward the bottom. If paths cross, letters stick to their own paths,
but when paths merge, letters go down the merged path together. Two vowels on one path cancel each other out, as
do two consonants.
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The culprit obscured: CONBRBCNAMRMRBRPEC

The culprit revealed: | _ _ _ _ — 0 0 0 o — — — — —
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